QUICK INSTALLATION GUIDE

This is a quick installation guide to help you get started with the . For the full (detailed) version of the

manual please visit www.phanteks.com.

Please take a moment to carefully go through the quick installation guide. Phanteks will not take responsibility for any damages incurred due to incorrect

installation and usage of this product.

1.1/0 PANEL

1.USB3.0 1.USB3.0 1.USB3.0 1.USB3.0
2. Microphone 2. Microphone 2. Micréfono 2. Microfoon
3. Headphone — ©) 3. Headphone 3. Casque 3. Cascos 3. Hoofdtelefoon
4.LED 4.LED 4.1ED 4.LED
2. Microphone—©) 5. Power Button 5. Bouton d‘alimentation 5. Boton de alimentacion 5. Power knop
= 6.HDD LED 6.HDD LED 6.HDD LED 6.HDD LED
1.USB3.0 {
=
6.HDDLED ——o
4.LED —
° Q 1.USB3.0 1.USB3.0 1. USB3.0
5. Power Button 2. Microfone 2. Microfono 2. Mikrofon
’ 3. Fone de ouvido 3. Cuffie 3. Kopfhorer
4.LED 4.LED 4.LED
5. Botdo de Alimentacdo 5.Tasto d'alimentazione 5. Ein-/Austaste
6.HDD LED 6.HDD LED 6.HDD LED

RGB LED Control (6) Instructions:

Long Press: On/0ff
Short Press (<1sec): Choose LED Color (10 colors)
@ 2 Sec Press: Choose Mode

Mode 1: Static Mode 2: Breathing  Mode 3: Color Cycle

2.PANEL REMOVAL

CAPTIVETHUMBSCREWS

Unscrew the captive screws to remove the side panel

Dévissez les vis imperdables pour retirer le panneau latéral.

Losen Sie zum Abnehmen der Seitenblende unverlierbaren Schrauben

Svitare le viti imperdibili per rimuovere il pannello laterale

Solte os parafusos cativos para remover o painel lateral.

Desatornille los tornillos cautivos para quitar el panel lateral.

Schroef 4 duimschroeven los (schroeven blijven op het paneel zitten) om de zijpanelen te verwijderen.

((IEommazeseeEromen
|| (O

s
Ty |
i
]\I

Unscrew the 4 thumb screws to remove the side panels.
Dévissez les vis a main pour enlever les panneaux latéraux.

Lasen Sie die 4 Randelschrauben zum Entfernen der seitlichen Blenden.
Svitare le 4 viti per rimuovere i pannelli laterali.

Desaperte os 4 parafusos para remover os painéis laterais.

Desatornille los 4 tornillos de pulgar para retirar los paneles laterales.
Schroef 4 duimschroeven los om de zijpanelen te verwijderen.

For the front panel, place your hands on the area shown and pull outward.

Pour le panneau avant, placez vos mains sur la zone affichée, et tirez vers 'extérieur.

Positionieren Sie auch bei der Frontblende Ihre Hande an der angezeigten Stelle und ziehen Sie sie dann nach aul3en.
Per il pannello anteriore, posizionare le mani sull'area mostrata e tirare verso I'esterno.

Para o painel frontal, coloque as maos na drea ilustrada e puxe para fora.

Para sacar el panel frontal, coloque las manos en el drea indicada y tire hacia afuera.

Voor het verwijderen van het voorpaneel, trek het paneel naar u toe zoals aangegeven op de tekening.

PHARAINTEKS

=ECLIPS=E S=ERI=ES



3.MOTHERBOARD INSTALLATION

Standoff screws are pre-installed.

Les vis du support sont préinstallées.
Abstandhalterschrauben sind vorinstalliert.

Le viti dei distanziatori sono installate precedentemente.
0s parafusos separadores estdo pré-instalados.

Los tornillos separadores vienen preinstalados.
Afstandschroeven zijn vooraf geinstalleerd

Install the motherboard with the Prov_ided M3 screws.
Installez la carte mére avec les vis M3 fournies

Installieren Sie das Motherhoard mit den mitgelieferten M3-Schrauben.
installare la scheda madre con le viti M3 fornite in dotazione.Instale a
placa mae com os parafusos M3 fornecidos.

instale la placa base con los tornillos M3 que se suministran.

Installeer het moederbord met de meegeleverde M3- scrhoeven

Use the provided screws to secure the PSU in place.

Utilisez les vis fournies pour fixer le bloc d'alimentation en place.
Befestigen Sie das Netzteil mit den mitgelieferten Schrauben.

Utilizzare le viti fornite per fissare la PSU in sito.

Use os parafusos para fixar a Unidade de Prote¢do e de Comutagdo.

Utilice los tornillos suministrados para fijar la fuente de alimentacion en su
posicion.

Gebruik de meegeleverde schroeven om de voeding vast te zetten.

SSD INSTALLATION 3.5” INSTALLATION
Slide in the SSD and screw in from the side to lock in place.

Faites coulisser le disque SSD et vissez-le depuis le c6té pour le verrouiller dans
@ son emplacement.
. Schieben Sie die SSD ein und fixieren Sie diese seitlich mit Schrauben.
S Far scorre I'unita SSD e fissare le viti dal lato per bloccarla in posizione.
Deslize para dentro do SSD e parafuse do lado para travar no local.
Deslice la unidad de estado sélido hacia adentro y atornillela desde el lateral para

bloquearla en su lugar.
Schuif de SSD in en monteer de schroeven via de zijkant om deze te vergrendelen.

Place hard drive into tray and push in the arms to lock.

f\ ’é’* 2RO Placez le disque dur dans le logement et poussez les bras pour le verrouiller.
Align corner of bracket to the guide and drop down to lock. Bringen Sie die Festplatten im Fach an und driicken die Arme zum Verriegeln hinein.
Alignez le coin du support avec le guide et baissez-le pour verrouiller. Collocare disco rigido nel cassetto e spingere i bracci verso l'interno per bloccare.
@J Richten Sie die Ecke der Halterung an der Fiihrung aus und lassen sie einrasten. Coloque o disco rigido na bandeja e empurre os bracos para travar.
Allineare I'angolo della staffa alla guida e calarla per bloccare. Coloque el disco duro en la bandeja y pulse sobre los brazos para que quede sujeto.
\ Alinhe o canto do suporte ao guia e empurre para baixo para travar. Plaatst de harde schijfin de lade en duw de armen in voor vergrendeling.

Alinee la esquina del soporte con la guia y empuje hacia abajo para que quede sujeta.
Plaats de beugel langs de uitlijning en druk richting de pijl om te bevestigen.

=CLIPS=E S=RI=S PHAAMNTEKS




